
 

First Translation Theorem

Suppose we need to find the LaplaceTransform
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the first translation theorem
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Transform only takes into account the partof
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so that translating by a along f axis gives
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cutting of the part of f on the negative
side of t axis translating by a and taking
the Laplace transform multiplies theTrans
form of f by the exponential factor e as
this is the second Translation Theorem



Thus we have two new entries in the table
of Laplace transforms
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and two new entries in the table of inverse
Laplace transforms
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These can also be expressed in the following
way
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